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Algebra II  

Control Chart Homework (21)        Name:___________________________________ Hr:__________

The Nabisco Company claims that there are 1000 chips in every bag of Chips Ahoy.
In order to live up to their word they hire you to try to maintain the golden standard.  Every twenty minutes you have to test a sample off the production line to see how many chips are in each bag.  A list of ten samples is given below.  Create a control chart below and determine if     things are out of control.

To be on the safe side the Nabisco Company sets their sample mean at 1,020 chips/bag.

· One standard deviation is 8.
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10 samples: 
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1. Control chart:

2. Are things out of control?  Why? 

3. A few weeks later you notice that the chip readings seem like they are on the high side.  Why would it be a problem if the Chips Ahoy bags had too many chips in each bag?
4. Given the following samples of Chips Ahoy bags is the company putting too many chips in each bag?  Why?  (Hint: create a control chart first)
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5. Using the Chips Ahoy example from the previous page, on each of the four graphs below, create a control chart to model a system that is breaking the given decision making rule.

a. Fails Decision Making Rule #1 

b. Fails Decision Making Rule #2

c. Fails Decision Making Rule #3

d. Fails Decision Making Rule #4


6. Writing
Describe another real world environment where you might see control charts put to use.  Why would it be advantageous to use a control chart?
The heights of doors produced at a door factory are 6’ 8” or 80”.  They need to be as consistent as possible with the height of their doors to ensure that they will fit into all of their customer’s door frames.  The standard deviation for the heights of the doors produced is 0.03”.  

10 samples: 
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7. Create the control chart:

8. Are things out of control?  Why? 

9. A few weeks later the factory workers noticed that the doors seemed to be on the short side.  Why would it be the problem if this was the case?

10. Given the following samples of door heights, determine if there is really an issue and if the process is out of control

10 samples: 
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11. The Frito Lay Corporation is producing 11 oz. bags of Cheetos.  They constantly monitor the amount of Cheetos in each bag to make sure it remains as close to 11 oz. as possible.  The standard deviation for the amount of Cheetos per bag is 0.05 oz.  

Give an example of a control chart for the Amount of Cheetos in the 11 oz. bags where each of the following rules is broken.

a. Fails Decision Making Rule #1 

b. Fails Decision Making Rule #2

c. Fails Decision Making Rule #3

d. Fails Decision Making Rule #4


12. Writing
Describe another real world environment where you might see control charts put to use.  Why would it be advantageous to use a control chart?
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